Formulas for Single Phase

Circular Mil method

Resistance per 1000 ft. method

To calculate Voltage Drop

_2xKxIxL
VD = =il

_2xLxRxl
VD ==5%500

To determine cmil = % R = %
conductor size
_ cmilx VD _ VD x 1000
To calculate length L= S KxI L= SxBRxl
of conductor
_ cmilx VD _ VD x 1000
To calculate current | = Y KxL | = %R xL

Formulas for Three Phase

Circular Mil method Resistance per 1000 ft. method
_1.732 x Kx I x L _1.732x LxRx|
To calculate voltage drop VD = cmil VD = 1000
. 0 1.732 x KxIx L _ VD x 1000
To determlr)e cmil = VD R = T730 XL X1
conductor size
_ _cmilx VD _ VD x 1000
To calculate length L =T732 xKx1 L= 1732 %xRxI
of conductor
_ _cmilxVD _ VD x 1000
To calculate current | = T732 xKx L | = 1732 x Rx L

Voltage Drop




